LSHSY | EE MOANYSSI B YHHS R EYLELT T2 SRy
A5 5 o, | A%Y 031)229-5803
o A |k A gt st
A-UHEXL | 25012 (Aol 4% | S e-malX4 | ghpark21 @gg.go.kr
P p y | SIM0 P 031)229-5802
=1=id
ML | ) y o lojare | 031)229-5801
1. HRAM=(08, HI|=H)
O HaAdF2a FF A ot FAEF4 4 a3
= (°Bx) 1~9) (ug/cm) (%) | ThE=
Z3 g 18.5a 7.4a 49.2a 5.7a 9.3
o) = 17.6b 6.4b 35.8b 10.0a 9.8
% DMRT(a=0.05)
) Z3H T
- " A AA
- B SA o3k e - A7 H -30kPa, #FA7] o]F -50kPa
- ubabld ) Ao A9 ue vE
- Zatek 24 3F 450g, 232 1,800kg/10a
2. ™ Lol
O WMAARFEZA EF AWA AMS, BEFEEA A w2 3e
2A2 FAED Y
- gr=2 : 09°Bx(17.6—185°Bx)
- FAE Z7) 0 okEAJobd dFEF 37%%(35.8—49.2ug/cr)
O AAA BA (71 : 10a)
AN QAB) 012X QA (A)
o Z7Fs= H)4: 533,0009/14 0 Z7tEE o]
- 917 | ¢ 3,000,0009/154 - 3 el ok 7EAARe] 1 1586000

- AFEPRAA 1 35000009154
- wbAbd 80 100,0009/1

- o 2= 1,802kg x5,000¢ =9,010,000
- A 1,766kgx5,0009x1.2

=10,596,000
MAEA FE H H71SKe %
HAdsE 1 20%
FA(A) : 533,000 FAB) : 1,586,000
@ 85+ 9(B-A) = 1,053,000¢/10a
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